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Model Question-paper

A1 (Set-1)
aai- 10 faw-arforg quife- 40 THY - 1 Her 30 e
(Class-10) (Sub-Mathematics) (F.M-40) (Time-1 hour 30 minutes)

AT fAS2A- (General Instruction)
> et guEHa 3ua reel #H 3R &

(Examinee write answer in their own words as far as practicable.)

> Pl UHT P HEAT 19 B
(The total number of questions is 19)

> UA HEIT 1 ¥ UH T 7 a6 ATdgadd A § 58 & fhedl  Org usl & R
QAT vAF um & A 2 3w AuiRa R
(Question number 1 to Question number 7 are very short answer type questions.
Answer any five of these questions . Each question carries 2 marks.)

> OF HEIT 8 ¥ UH WEAT4 db ogealid UF &l 39 & foheel 5 UMl & 3R
QfST| uRs us & A 3 3w AuiRa &
(Question number 8 to Question number 14 are short answer type questions. Answer
any five of these questions . Each question carries 3 marks.)

> U TEIT 15 T A TEAT 19 dh SrU3adT U &1 3 & foheel didd U8l & 3w
QfST| ucd® UM &1 AT 5 3w FUiRa #
(Question number 15 to Question number 19 are long answer type questions. Answer
any Three of these questions . Each question carries 5 marks.)

Sec A

fag3fl (-5,7) TUT(-1,3) & &1 B A AT HIFATI

Find the distance between points (-5,7) and (-1,3).

gf& sin A =3, B d) cos A 371X tan A BT HH JTd HIFTI

If sin A =% then find the values of cos A and tan A.

HT 3ATd HIfSAY (Evaluate):

2 tan? 45° + cos? 30° - sin?60°

ﬁ?\ﬂ @9 (Prove that):

c0s38°cos52° - sin38°sin52°=0

7cm f3=91 TAT 5cm H9TE 916 eTa-gfRig A6 T 39 AT BT |
Find Volume of a right circular cylinder having radius 7cm and height 5 cm.
e, ATfEqehT aUT 9601 & &g Udel 18U |

State relation between Mean, Median and Mode.

U T &1 b 91R Wb S11d1 81 Ffafad &) ure &3 HY uifiesdr sird HIifg:
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@ UE fauad=aT (b) U A9 HAT
A die is thrown once .Find the probability of getting
(a) an odd number (b) an even number

Sec B

fag3il ( 5, -6) 31 (-1,-4) B 3AE AT WIS B Y-3781 fomw 317uTa A fawnfsia et 21
Find the ratio in which y-axis divides the line segment joining the points (5,-6) and (-1,-4).
39 VST ABC T 8% JATd Iy, 583 M A (5,2), B (4,7 3R € (7,-0) ]
Find the area of triangle ABC, whose vertices are A(5,2), B (4,7) and C(7, -4).

RA R UG AR SAfR @ A TR P figd smyREaffgadAr &
ARG’ BT 3991 BT 60° &1 AR B FHaATE AT HIFY |

A tower stands vertically on the earth. From a point 15 m away from the foot of the
tower,the angle of elevation of the top of the tower is 60°. Find the height of the tower.

. gfE tanA = cotB ﬁ,ﬂﬁgﬂﬁﬁuﬁiA+ B=90°

If tanA= cot B, then Prove that A+B= 90°.

. 7.6 cm TTET U RARaS WY 31k $9 5:8 ¥ fawnfsa S5y

Draw a line segment 7.6 cm long and divide it in the ratio of 5:8.

5 cm f359T & U ga W QY T Y10 TR, 51 WRER 60° & BT WR S[h 81

Draw two tangents to a circle of radius 5 cm, which are inclined at an angle of 60° to

each other.

U 4a1 0 1 &1, 5 BTt 3117, 3 et e 21 faam 4@ & 3rev o1fd, sl A g e
FrTardt 21 s Fa1 i @ fs ag i
(@Q®EIE? (DTATEE? (oA E?
A bag contains 1 red ball, 5 black balls and 3 blue balls . Nisha takes out a ball without
looking into it. What is the probability that she takes out the
(a) Black ball ? (b) Red ball ? (c)Blue ball ?

See c
7m F U a & RIER | U Had clar & R BT 3797 DI 60° & 317 306 IS
BT 3TTTH BT 45° &1 STaR B H4TE ST S |
From the top of a 7m high building, the angle of elevation of the tower is 60° and the
angle of depression of it’s foot is 45°. Determine the height of the tower.

o fQdT &) T 3.5 cm 910 TP X$ & PR FT ¢, ot ST Hiar arat srefia w
ARG 81 39 fAe= &t wwgel S 15,5 cm 81 39 fAe= &1 9wyl gdia gawa
T BT

A toy is in the form of a cone of radius 3.5 cm mounted on a hemisphere of the same
radius. The total height of the toy is 15.5cm. Find the total surface area of the toy.

TH 3, T& I W TS TP P & MHR P ¢ P! BN 1cm & TUT TF BT Hdls
D! ST & TSR g1 U 3N BT A it b Ual 8 J1d Hiforg |

A solid is in the shape of a cone standing on a hemisphere with their radius being equal
to 1 cm and height is equal to its radius. Find  the volume of the solid in terms of Tr.



18. o 3Tl A "1em 71 HFT

Find the mean of following data:

Tt 3TaRTeA 0-10 10-20 20-30 30-40 40-50 50-60
(Class-interval)
TRARCT 5 8 10 3 8 6
(Frequency)
19. 1 3iTw3) i ArfeaesT sira AT
Find the median of following data:
aqif 3TaRTe 10-25 25-40 40-55 55-70 70-85 85-100
(Class-interval)
TRARCT 2 3 7 6 6 6

(Frequency)




